all prof ogsbio007c
0.3Megabyte - 4 cycles

last prof ogshio007c
6Kilobyte — (100%2%)

— ascent
— drift

)
X
X
<
<
&

all prof basbio001d

5Megabyte — 91 cycles

‘ II‘ [ | I‘
ol

erep %

—— ascent
—— 5 days drift

last prof basbio001d
7Kilobyte — (300%20%)

—— ascent
— drift
AN
RS
\§\

00T 0¢ S ¢1

erep %

—— 10 days drift
\§\

—— ascent

all prof gembio001b

1Megabyte — 38 cycles

last prof gembio001b
4Kilobyte — (40%3%)
)
[$)

— ascent
— drift

erep %

—— ascent
—— 5 days drift
QR
(\’0
N

elep %



all prof ogsbio003b

1Megabyte — 73 cycles

last prof ogsbio003b
3Kilobyte - (100%20%)

— ascent
— drift

00T

elep %

—— ascent
—— 5 days drift

00T

elep %

— ascent
— drift

all prof lovbio088d

[ |
SN

0.5Megabyte - 15 cycles

00T

elep %

—— ascent
—— 5 days drift

last prof lovbio0O88d

4Kilobyte — (60%20%)

elep %

— ascent
— drift

all prof lovbio091d

0.3Megabyte — 10 cycles

00T

elep %

—— ascent
—— 5 days drift

last prof lovbio091d
4Kilobyte — (60%20%)

elep %



all prof lovbio018c
7Megabyte — 186 cycles

last prof lovbio018c
4Kilobyte - (6%2%)

— ascent
— drift

00T

erep %

—— ascent
—— 5 days drift

elep %

all prof lovbio083d

0.3Megabyte — 8 cycles

last prof lovbio083d
4Kilobyte — (70%20%)

— ascent
— drift

3
O
AR
R
&
O

00T

erep %

—— ascent
—— 5 days drift

3
O
AR
R
&
O

00T

elep %

all prof lovbio084d

0.3Megabyte — 10 cycles

last prof lovbio084d
4Kilobyte — (70%20%)

— ascent
— drift

00T

erep %

—— ascent
—— 5 days drift

00T

elep %



all prof lovbio085d

0.3Megabyte — 10 cycles

last prof lovbio085d
4Kilobyte — (70%20%)

— ascent
— drift

elep %

—— ascent
—— 5 days drift

elep %

— ascent
— drift

ot
o
0(:

all prof lovbio090d

0.3Megabyte — 10 cycles

00T

elep %

—— ascent
—— 5 days drift

last prof lovbio090d

4Kilobyte — (70%20%)

00T

elep %

— ascent
— drift

all prof lovbio093d

0.3Megabyte — 9 cycles

—— ascent
—— 5 days drift

3
O
fb. J
5
&

last prof lovbio093d

4Kilobyte — (70%20%)

00T

elep %
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— ascent
— drift

all prof lovbio067c

3Megabyte — 89 cycles

00T

elep %

—— ascent
—— 5 days drift

3
O
fb. J
5
&

last prof lovbio0O67c

4Kilobyte — (90%20%)

00T

elep %

all prof lovbio035b

7Megabyte — 275 cycles

last prof lovbio035b
3Kilobyte - (70%20%)

— ascent
— drift
A
R

elep %

—— ascent

—— 5 days drift
\§\

elep %



— ascent
— drift
A
R

ot
o
0(;

all prof lovbio063c
2Megabyte — 96 cycles

elep %

—— ascent
—— 5 days drift

3
O
fb. J
5
&

last prof lovbio063c
3Kilobyte - (100%20%)

elep %

all prof lovbio015c
5Megabyte — 182 cycles

last prof lovbio015c
4Kilobyte — (50%20%)

— ascent
— drift
A
R

ot
o
0(;

elep %

—— ascent
—— 5 days drift

J

()
last prof lovbioO72c
3Kilobyte - (60%20%)

[ ]
A

N
&

3
O
fb. J
5
&

elep %

all prof lovbio072c

2Megabyte — 62 cycles

— ascent
— drift

00T

elep %

—— ascent
—— 5 days drift

elep %



all prof lovbio086d

0.3Megabyte - 6 cycles

last prof lovbio0O86d
8Kilobyte — (10%9%)

—— ascent

|L — drift
[ | ‘ [ ] I${\ [ ] ‘ ‘
&

00T

erep %

—— ascent
—— 5 days drift

00T

elep %

all prof lovbio089d

0.2Megabyte - 6 cycles

last prof lovbio089d
4Kilobyte — (60%20%)

— ascent
— drift

3
O
AR
5
&

00T

erep %

—— ascent
—— 5 days drift

3
O
AR
5
&

elep %

— ascent
— drift

all prof ogsbio002b

0.2Megabyte — 8 cycles

erep %

—— ascent
—— 5 days drift

last prof ogsbio002b
2Kilobyte — (20%5%)

elep %



— ascent
— drift

all prof ogsbio004b

0.2Megabyte — 12 cycles

elep %

—— ascent
—— 5 days drift

[ ] llLl ‘
&

last prof ogsbio004b

3Kilobyte — (90%20%)

elep %

— ascent
— drift

3
O
fb. J
5
&

all prof lovbio022b

8Megabyte — 305 cycles

elep %

—— ascent
—— 3 days drift

I‘
)
X

S

N
&

3
O
fb. J
5
&

last prof lovbio022b
7Kilobyte — (8%6%)

elep %

— ascent
— drift

[ |
%?
R
e

all prof lovbio0O61c

4Megabyte — 110 cycles

elep %

—— ascent
—— 3 days drift

[ ] llLl ‘
&

last prof lovbioO61c
7Kilobyte - (8%6%)

elep %



all prof lovbio044b

5Megabyte — 136 cycles

last prof lovbio0O44b
4Kilobyte — (30%10%)

— ascent
— drift

00T

I
0¢ S ¢1

erep %

—— ascent
—— 3 days drift

elep %

all prof lovbio045b

6Megabyte — 154 cycles

last prof lovbio045b
7Kilobyte - (8%5%)

— ascent
— drift

[ |
%?
%3 ¢
e

00T

erep %

—— ascent
—— 3 days drift

N
&

3
O
AR
5
&

00T

elep %

all prof lovbio059c
4Megabyte — 96 cycles

last prof lovbio059c
8Kilobyte — (20%9%)

— ascent
— drift

]
X
RN
R
Q
>
&

00T

erep %

—— ascent
—— 5 days drift

ll‘ lllLl‘ [ ]
&

00T

elep %



all prof lovbio024c
6Megabyte — 234 cycles

last prof lovbio024c
7Kilobyte - (8%6%)

— ascent
— drift

ot
o
0(;

00T

erep %

—— ascent
—— 3 days drift

elep %

all prof lovbio028b

5Megabyte — 152 cycles

last prof lovbio028b
7Kilobyte - (8%5%)

— ascent
— drift

00T

erep %

—— ascent
—— 3 days drift

elep %

all prof lovbio014b

5Megabyte — 140 cycles

last prof lovbio014b
2Kilobyte — (80%20%)

— ascent
— drift

ot
o
0(;

erep %

—— ascent
—— 3 days drift

00T

elep %



all prof lovbio030b

6Megabyte — 172 cycles

last prof lovbioO30b
3Kilobyte — (7%3%)

— ascent
— drift

b
’
0(;

00T

—— ascent

elep %

all prof lovbio032b

7Megabyte — 263 cycles

last prof lovbio032b
7Kilobyte - (8%6%)

— ascent
— drift

o
S
0(;

00T

erep %

—— ascent
—— 3 days drift
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X

N
&

3
O
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5
&

00T

elep %

all prof imrbio002d

6Megabyte — 103 cycles

last prof imrbio002d
10Kilobyte — (10%7%)

— ascent
— drift

00T

—— ascent

00T

elep %



all prof lovbio0O09b

4Megabyte — 101 cycles

last prof lovbioO09b
5Kilobyte - (300%30%)

— ascent
— drift

[ |
S

00T

erep %

—— 10 days drift

—— ascent

elep %

all prof lovbio006b

10Megabyte — 99 cycles

last prof lovbioO06b
3Kilobyte — (10%2%)

— ascent
— drift

[ |
SN

00T

—— 10 days drift

—— ascent

00T

elep %

all prof metbio004d

2Megabyte — 60 cycles

last prof metbio004d
4Kilobyte — (100%20%)

— ascent
— drift

00T

erep %

—— ascent

—— 5 days drift

00T

elep %



all prof metbio005d

2Megabyte — 59 cycles

last prof metbio005d
4Kilobyte — (100%20%)

—— ascent
— drift
AN
RS
\§\

erep %

—— ascent
—— 5 days drift
QR
(\’0
N

elep %

all prof lovbio010b

10Megabyte — 100 cycles

last prof lovbio010b
3Kilobyte — (10%2%)

— ascent
— drift

[ ]
X
X
S
()

Q
&

S
N
5o
&

00T

erep %

—— ascent

—— 10 days drift

S
N
5
&

elep %

all prof metbio001b

8Megabyte — 153 cycles

last prof metbio001b
5Kilobyte - (600%3%)

— ascent
— drift

S
N
5o
&

00T

erep %

—— ascent

—— 5 days drift

elep %



all prof metbio002b

7Megabyte — 125 cycles

last prof metbio002b
5Kilobyte — (20%1%)

— ascent
— drift

—— ascent
—— 1 days drift

ll‘ IIL\AI‘
&

all prof lovbio073b

1Megabyte — 36 cycles

last prof lovbioO73b
3Kilobyte — (7%3%)

&)

— ascent
— drift

2
)

&)

—— ascent
—— 1 days drift

N
&

2
)

elep %

all prof lovbio069c
0.9Megabyte — 36 cycles

last prof lovbio069c
3Kilobyte — (5%2%)

—— ascent

|L — drift
[ ] l${\ [ ] ‘
&

erep %

—— ascent
—— 1 days drift

)

N
&

elep %



— ascent
— drift

all prof lovbio019b

2Megabyte — 38 cycles

00T

—— ascent

—— 10 days drift

last prof lovbio019b
5Kilobyte - (300%30%)

elep %

all prof lovbio036b

0.3Megabyte - 6 cycles

last prof lovbio036b
5Kilobyte - (300%30%)

— ascent
— drift

— ascent
— drift

all prof lovbio056b

0.6Megabyte — 25 cycles

00T

elep %

—— ascent

—— 10 days drift
—— 10 days drift

—— ascent

]

Qe
5
&

last prof lovbio0O56b
4Kilobyte — (300%40%)

elep %



— ascent
— drift

all prof lovbio081b

1Megabyte — 35 cycles

00T

erep %

—— 10 days drift

—— ascent

last prof lovbio081b

5Kilobyte — (300%30%)

elep %

— ascent
— drift

all prof lovbio048b

1Megabyte — 25 cycles

00T

erep %

—— 10 days drift

—— ascent

last prof lovbio048b

5Kilobyte — (300%30%)

elep %

— ascent
— drift

all prof lovbio049b

2Megabyte — 36 cycles

00T

erep %

—— 10 days drift

—— ascent

last prof lovbio049b

5Kilobyte — (300%30%)

elep %



all prof lovbio041c

2Megabyte — 52 cycles

last prof lovbioO41c
4Kilobyte — (100%30%)

— ascent
— drift

elep %

—— 10 days drift

—— ascent

elep %

all prof lovbio047c
0.2Megabyte - 6 cycles

last prof lovbioO47c
4Kilobyte — (300%40%)

— ascent
— drift
A
R

ot
o
0(;

elep %

—— 10 days drift

—— ascent

J

[®)
last prof lovbio054b
4Kilobyte — (300%40%)

[ ]
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N
&

3
O
fb. J
5
&

elep %

all prof lovbio054b

4Megabyte — 126 cycles

— ascent
— drift

ot
o
0(;

00T

elep %

—— 10 days drift

—— ascent

3
O
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5
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elep %



all prof lovbio055b

3Megabyte — 117 cycles

last prof lovbio0O55b
4Kilobyte — (300%40%)

— ascent
— drift

00T

—— ascent

elep %

—— ascent

— drift
2
o

o
S
fb. J
8
&
[§)

all prof lovbio003b

4Megabyte — 97 cycles

00T

elep %

—— 10 days drift
\§\

—— ascent

3
O
fb. J
5
&

last prof lovbioO03b
5Kilobyte - (300%30%)

elep %

—— ascent
— drift
AN
RS
\§\

all prof metbio007d

2Megabyte — 69 cycles

00T

elep %

—— ascent
—— 5 days drift
QR
(\’0
N

last prof metbio007d
3Kilobyte - (200%20%)

elep %



— ascent
— drift

all prof metbio009d

2Megabyte — 65 cycles

elep %

—— ascent
—— 5 days drift

[]
3
fb. J
R
&

[§)

last prof metbio009d
4Kilobyte — (100%20%)

elep %

— ascent
— drift

all prof metbio013d

S
N
5o
&

2Megabyte — 64 cycles

00T

elep %

—— ascent
—— 5 days drift

S
N
5
&

last prof metbio013d
4Kilobyte — (100%20%)

elep %

— ascent
— drift

all prof lovbio042d

2Megabyte — 48 cycles

00T

elep %

—— ascent
—— 5 days drift

last prof lovbio042d
4Kilobyte — (100%20%)

elep %



— ascent
— drift

all prof lovbio037c

3Megabyte — 56 cycles

00T

—— ascent
—— 5 days drift

last prof lovbio037c

4Kilobyte — (100%20%)

elep %

— ascent
— drift
A
R

ot
o
0(;

all prof lovbio057b

1Megabyte — 42 cycles

elep %

—— 10 days drift
Q2
\§\

—— ascent

N
&

3
O
fb. J
5
&

last prof lovbio057b
4Kilobyte — (300%40%)

elep %

— ascent
— drift

all prof lovbio050b

2Megabyte — 68 cycles

00T

elep %

—— ascent
—— 3 days drift

last prof lovbioO50b

3Kilobyte — (80%10%)

00T

elep %



all prof lovbio043b

1Megabyte — 43 cycles

last prof lovbio043b
4Kilobyte — (300%40%)

— ascent
— drift

—— ascent

elep %

all prof lovbio075b

0.9Megabyte — 30 cycles

last prof lovbioO75b
3Kilobyte - (100%20%)

— ascent
— drift

00T

elep %

—— ascent
—— 5 days drift

3
O
fb. J
5
&

00T

elep %

all prof lovbio077b
0.9Megabyte — 31 cycles

last prof lovbio077b
3Kilobyte - (100%20%)

— ascent
— drift

00T

elep %

—— ascent
—— 5 days drift

00T

elep %



all prof lovbio079b

0.5Megabyte — 23 cycles

last prof lovbioO79b
3Kilobyte - (100%30%)

— ascent
— drift
A
R

elep %

—— ascent

—— 5 days drift
\\f\

elep %

all prof lovbio080b

2Megabyte — 71 cycles

last prof lovbioO80b
2Kilobyte — (20%4%)

— ascent
— drift

ot
o
0(:

elep %

—— ascent

—— 1 days drift
\\f\

elep %
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end of mission ogshio006b

end of mission basbio002d

4Megabyte — 79 cycles

6Megabyte — 135 cycles

— ascent
— drift

00T

erep %

— ascent
— drift

[ |
S

elep %

end of mission lovbhio053b

end of mission lovbhio016¢

6Megabyte — 177 cycles

3Megabyte — 137 cycles

— ascent
— drift

[ |
S

00T

— ascent
— drift

end of mission ogshio005b

end of mission lovhio066¢

1Megabyte — 50 cycles

3Megabyte — 107 cycles

— ascent
— drift
A
R

II‘
)

erep %

— ascent
— drift




end of mission lovbio001i

end of mission lovbio066d

2Megabyte — 80 cycles

0.6Megabyte — 22 cycles

— ascent
— drift

&)

00T

erep %

— ascent
— drift

S
N
5o
&

elep %

end of mission lovbhio064b

end of mission lovbhio017b

5Megabyte — 145 cycles

5Megabyte — 54 cycles

— ascent
— drift

00T

erep %

— ascent
— drift

00T

elep %

end of mission ogshio001b

end of mission lovbhio064c

8Megabyte — 87 cycles

2Megabyte — 70 cycles

— ascent
— drift

S
N
5o
&




end of mission lovbhio042c

end of mission lovbhio039b

0.3Megabyte — 17 cycles

2Megabyte — 59 cycles

— ascent
— drift

00T

erep %

— ascent
— drift

00T

elep %

end of mission lovbhio046h

end of mission lovbio058c
5Megabyte — 178 cycles

4Megabyte — 102 cycles

— ascent
— drift

— ascent
— drift

00T

elep %

end of mission lovbhio020b

end of mission lovbio052b
4Megabyte — 163 cycles

— ascent
— drift

3Megabyte — 76 cycles

00T

— ascent
— drift

elep %



end of mission lovbhio029b

end of mission lovhio038b

1Megabyte — 37 cycles

5Megabyte — 127 cycles

— ascent
— drift

00T

erep %

— ascent
— drift

00T

elep %

end of mission lovhio023b

end of mission lovbhio013b

2Megabyte — 64 cycles

2Megabyte — 57 cycles

— ascent
— drift

erep %

— ascent
— drift

elep %

end of mission lovbhio040b

end of mission lovbio025¢c
2Megabyte — 101 cycles

2Megabyte — 76 cycles

— ascent
— drift

00T

— ascent
— drift




end of mission lovhio027b

end of mission lovbhio026¢

3Megabyte — 102 cycles

1Megabyte — 48 cycles

— ascent
— drift

[ |
%?
%3 ¢
e

erep %

— ascent
— drift

end of mission lovbhio011b

end of mission lovbio031c
3Megabyte — 110 cycles

3Megabyte — 68 cycles

— ascent
— drift

00T

erep %

— ascent
— drift

3
O
AR
5
&

00T

elep %

end of mission lovbhio021c

end of mission lovhio012b

0.4Megabyte — 23 cycles

0.1Megabyte - 4 cycles

— ascent
— drift

00T

erep %

— ascent
— drift

elep %



end of mission lovbio007b
2Megabyte — 89 cycles

end of mission imrbio001d
0.04Megabyte — 1 cycles

5. 08 5. —y 5. —_—y
835 78 835 78 83 &
Cop N g o Cog N
[ W% 2 ] W% [ R
11 %@ &\Q% o0 ot C| %@ &\Q% AN oy [T B &\Q%
so%\ «.\@%Q«Q% m O !0%\ «.\@%Q«Q% % Q so%\ «.\@%Q«\VQ%
m\%em%o&\w, «\oe o W - o%e«MMonv «\oe o W m\%em.%o&% «\oe
7S e (S o 0 (S
.\@@.\ V o™ ,\Q\\@.\ V .\@\\@.\0
S o DN oX 0
|\w\.\ 0, = | |\w\.\ 0, = <t |\v\,\ %
S c S c | oS
[.MW&O Q m LMW&O 9 o LMW&O
: : Q
T, 838 e, 82 T,
|0®®®\0% % m % |0®®®\0% % m = |0®®®\0% %
) o % o Y
%OM\%..OO r.m M %00%..00 r.m m %00%..00
A\@ (N ho] _IO. |A\® (N ho] 5 |A\® S)
G50 o %80 o %80
SRS SRS SRS
— O [ S, —— O [ S, — O [ S,
5 5 5
S G GEF e (7 s ol e G P
N I — @e\e««\o T T T T T 1 @e.\e««\o T T T T T 1 @ew%««\o
0z s z1 Xy ot 02 s z1 e 01 0z s z1 W,
elep % elep % elep %
5. % 5. % 5. %
85 N@@o 85 N@@o 85 M@@o
7 7 7
N R 2,1 SR 2 ol B
11 @@.\Q 4 (7] 1 @@.\Q Lo ) 1 @0&\%&/
55 ~ 2 B8, Q5 (B0,
o %QMQ% o O m\,a\.\ %Q\v & o W m\,a\.\ %Q\v &
m\%em.%w\% % 2 %&WMM\% % 20 %em.%w\% “
.\6@.\ m o ,\6\\@.\ m Lo ,\6\\@.\0
\\0.\04 O 0.\04 o Lo 0.\ g/
—— ], o O.\o —_ | — 7, o O.\o —_ <t —— 7, o O.\o
% [ =0, c | 0,
R R Y R—— S v —— A
%% # A 40X B 5%
dasdr o, 2w Josdr e, 218 580,
%@M\O@ ©° E o %@M\O% ©° = I %@M\O% °
% Q % 2 %
%OM\%..OO r.m M %00%..00 r.m Ww %00%..00
|l \NM%\ (N |m M \NM%\ (N |m S |l \NM%\ (N
4 omvmv% ) omv%wxv [T 4 omv%wxv
ISR SRS %55,
— O [ S, — O [ S, — O [ S,
—— P o —aF o —% 0
T T T 1 % T T T T T T T %% T T T T T 1 %
02 s z1 @%@o 0T 0z S z 1 @%@o 0T 0z S z 1 @%@o

erep % erep % erep %



end of mission lovbhio033c

1Megabyte — 25 cycles

S
O

— ascent
— drift




